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10. The following staff readings were taken on a
levelling staff by a level. If R.L. of first point is
376.500 m , then find out the R.L. of other points.
The position of level is changed after second, fifth
and eight readings. Apply the usual check.

0.675, 1.230, 0.750, 2.565, 2.225, 1.935, 1.835,
3.220, 3.115, 2.875 6

Ud ddddl gRI da&vl o R Fr=ifed 1w
Uedi® ferd | Rig yom fag &1 wurla
dd 376.500 Hlo @, dl oY @l fagall &
AT del did BY | dddel &1 Rerfd ger,
gigd dT ATSd UIgATH & 9IS del TS 2 |
AT ST o |

0.675, 1.230, 0.750, 2.565, 2.225, 1.935, 1.835,
3.220, 3.115, 2.875

OR(3721dT)

Describe 'Rise and fall method' for computing the
levels.

dd &) TUET A & v aerd Sar fafer
T qof B |
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Time : 3Hrs. Sem - 111/ C/CCR
Surveying

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |

P.T.O
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OR (3121a) (i)

The following bearings were observed while

traversing with a compass. At what stations do

you suspect local attraction ? Find the corrected

bearing of the lines.

Line Fore Bearing Back Bearing

AB 134" 30’ 314" 30" (iif)

BC 120" 00’ 299" 20"

CD 03" 20" 185" 30’

DA 265" 00' 83° 30

U$ dqd AreRAr ¥ @rel o FEfafeaa (i)

e A A | DD LA W)W &A™

ATHHUT B GHTGAT 2?7 @RI & &l fedmAr

ST &Y |

(=) (erufesar) (uzafeaar)

AB 134° 30" 314° 30" (iv)

BC 120° 00' 299" 20

CD 03" 20' 185" 30"

DA 265" 00' 83" 30"

3

1615302

adaer i godl &1 ashdr &1 Agar

& Sl 2, deddl @ —
(31) w1 adeur

(@) fadY adeor
OESERLE

(%) srgsiuThe adeor

Correction for slope is always:
(a) Positive

(b) Negative

(c) Both (a) & (b)

(d) None of these

STdl |eMe SHeT ghdr 87
(31) aqTcHD

(@) FoIcHS

(@) ‘3 SR 9 Al

() 39 9 BIg 78

Optical square is used for :-
(a) Measuring vertical angle
(b) Measuring horizontal angle
(c) Setting out right angle

(d) All of the above
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GROUP -C

Answer all Five Questions.

ol uig g3 & SR < |

7.

6x5=30

What are the obstacles in chaining ? Describe with
a neat sketch how will you overcome an obstacle
to both chaining and ranging.

6
SNI9 A1 A HIT—dIF 98 © ? U Wilig
AU dAT IRE KUl A el Sl AT DY
IR W o fa3 g1 avfq e |

OR (3121a1)

Define Bench mark. Calculate the sag correction
for a 30 m steel tape under a pull of 140 N in the
three equal spans of 10 m each. Weight of one
cubic cm of steel = 0.078 N Area of cross-section
of tape = 0.09 sq. cm.

da fag @) uRwmr fad | & 30 Ho gxurcdl
BIdr Bl 10 Ho & 9 e @vsl | 140N
d-ITd 4R dcdIAT AT 8 | U O+ Hodlo
SHId &I 9R = 0.078 N, BIdl &1 AJuee]
PIc BT &A% =0.09 a7 Ho Ho 21 3N
dene S BN |

NT3014

(vi)

(vii)

(vii)

(viii)

5 1615302

AR wiar fea s a1g @ 997 ghar
2 ?

(31) sra AR ffaa

(@) T AR fea

(w) dfar kT RN

(%) didTee 3R s

Which of the following compass is used for
measuring whole Circle bearing ?

(a) Surveyor's Compass

(b) Prismatic Compass

(c) Both (a) & (b)

(d) None of these

frfafaa 4 4 foa e gae &1 sy
yofqa fegwae amawt & grar 272

(@) wdax fanygas

(@) fu=l fengas

(@) 3 SR 9 <

(®) T A »iIg 7€

The vertical distance between two consecutive
contours is called :

(a) Contour interval

(b) Horizontal equivalent

(¢) Gradient of contour

(d) None of these

P.T.O
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fifed uel @& aRwmeT ford - x)  afe AB @&T fa®m¥ =N20"W a=1m BC
(&) s &1 famu =S60'W 2, a9 ZABC &I
A BT
@) fewarH @) 90’
(&) faepof gedl &) 100°
0
<) T () 110 _
@)1 (]) s ¥ I3 L
OR (3r21ar) (xi)  If back bearing of a line is 230" its fore
‘E);)a;i(r)log will be :
Compare whole circle bearing system and quadrantal (b) 40°
bearing system with necessary sketch. (c) 45°
g sy ry ) 50°
qoi qa feewe ugfa ¢d urdy fRaar vgfa «i)  afy feedl Y@r &1 yTa fReuE 230°2
D AT ATTTAD ARW & AT BN | ?ﬁ)s“? I 3 famarT g
31) 30
(@) 40°
5. Explain the following terms : (|) 45°
(a) Line of collimation (1) 50°
(b) Change point ' _ ‘ '
(xii) At every turning point, which of the following
4 sight is taken ?
frTifea gl @ e - (a) Fore sight
(b) Back sight
SR (c) Both'a' & 'b'
@) uRad= fasg (d) None of these
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xx)  fr=fafaa 9 4 feaa) gemar 9 wile
f&d A sifrafia sefa o1 83w
&dl 9 =d fHar &1 adar & ?

(31) URTATH IR
(@) wariex
(4) U<rIT®

(?) Sudaa

GROUPB

Answer all Five Questions. 4x5=20

gl ufg g & SN o |

2.

Enumerate different types of chains. Describe any
one in brief.

fafr =1 yeR @ el &1 9w ford | fesf
Uh &I A89 d quiq & |

NT3014
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(xiv) G99 I=ddl dral fa=g3il &1 fremrareh

(xv)

(xv)

(xvi)

BTUTd I@T HEATd! ?:
(31) ufegurdt Y@

@) wnfaes X

(W) 3rer @

() wHI=a X4l

The error due to bad ranging is :
(a) Cumulative Negative

(b) Cumulative Positive

(c) Both'a' and 'b'

(d) None of these

Tad INEF & HRYT Ffe gdr 272
(@1 "= oIS

O ELIR NG

() 3 &R 9 Al

(?) 379 & ®Ig

What will be the correction for curvature for
a distance of 1000 m ?

(a) 0.06735 m

(b) 0.0730 m

(c) 0.66350 m

(d) 0.07857 m
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11. Enumeral different classification of levelling. 11. Enumeral different classification of levelling.

Describe any one in short.

doeror & fafyr= affexon &1 am fod |
fodt e &1 "&AT A gufa B |

OR (312141)

(a) Differentiate between plane surveying and
geodetic surveying.
(b) Write different types of Bench Mark.

(31) w¥aa ad&der A1 9 g5 ad&vr |

IR T PN |
@) fafr= yorR & ad sl &1 fad |

L

Describe any one in short.

doleror & fafyr= affexo &1 am fod |
fodt e &1 &Y A gufa B |

OR (3121d1)

(a) Differentiate between plane surveying and
geodetic surveying.
(b) Write different types of Bench Mark.

(31) w¥aa Ad&er AT 9 Y5 ad&vr |

IR W PN |
@) fafr= yoR & ad famsl &1 fad |

L
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